Efficiency vs dr

x 02
<

©0.18
20.16
c

Q

50.14F -+
= :
©0.128--4
0.1H -+
0.08f -+
0.06[ -+
0.04f -
0.02f---

.......

T 1Tbase
it_TT_retrainOldFiles125
it_TT retrainNewFiles125

Ratio

it_TT_retrainNewFiles125AndSQCD

-1

1
TP min AR

[ Efficiency vs dr (track,jet) |
§0.01
n0.009
-
gJ.OOS
9.007
>
2.006
Q
:-'=0.005
@
0.004
0.003
0.002
0.001

1073 1072 107t
AR(TP, jet)

Efficiency vs pu

50.05
o
9.045
20.04
(]
®.035
=
20.03
0.025
0.02
0.015
0.01
0.005

0
15

Ratio

-+

..

40 50 60 70 80 90 100
Pileup

N
(=]
o H



	Contents
	Page 1


